



St. Louis County, Minnesota

Date of Report: 8/6/2025 10:53:22 PM

**General Details** 

 Parcel ID:
 545-0010-01650

 Document:
 Abstract - 1024462

 Document Date:
 05/09/2005

**Legal Description Details** 

Plat Name: STURGEON

Section Township Range Lot Block

11 61 20 -

Description: NE1/4 & N1/2 OF NW1/4 EX 4.86 AC FOR HWY & EX 5.70 AC AT W SIDE

**Taxpayer Details** 

Taxpayer Name STRAW DALTON
and Address: 10441 HEINO RD
ANGORA MN 55703

Owner Details

Owner Name STRAW JEFFREY J

Payable 2025 Tax Summary

2025 - Net Tax \$251.00

2025 - Special Assessments \$25.00

2025 - Total Tax & Special Assessments \$276.00

Current Tax Due (as of 8/5/2025)

Due May 15		Due November 15		Total Due		
2025 - 1st Half Tax	\$138.00	2025 - 2nd Half Tax	\$138.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$138.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$138.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$138.00	2025 - Total Due	\$138.00	

**Parcel Details** 

Property Address: 10950 GUSTAFSON RD, ANGORA MN

School District: 2142
Tax Increment District: -

Property/Homesteader: STRAW, DALTON E

Assessment Details (2025 Payable 2026)										
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity			
103	3 - Relative Homestead (100.00% total)	\$168,700	\$37,000	\$205,700	\$0	\$0	-			
123	3 - Relative Homestead (100.00% total)	\$31,300	\$0	\$31,300	\$0	\$0	-			
	Total:	\$200,000	\$37,000	\$237,000	\$0	\$0	1226			





St. Louis County, Minnesota

Date of Report: 8/6/2025 10:53:22 PM

**Land Details** 

Deeded Acres: 229.44

Waterfront:

Water Front Feet: 0.00

W - DRILLED WELL Water Code & Desc:

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00

_ot Depth:	0.00	0.00							
The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at https://apps.stlouiscountymn.gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov.									
po.,/appoiotioulouduitymm.	Improvement 1 Details (HOUSE)								
Improvement Type	Year Built	Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup>		Basement Finish	Style Code & Desc.				
HOUSE	1920	720 900		U Quality / 0 Ft <sup>2</sup>	1S+ - 1+ STORY				
Segment	Story	Width	Length	Area	Foundation				
BAS	1.2	24	30	720	BASEMENT WITH EXT	TERIOR ENTRANCE			
DK	1	8	4	32	POST ON (	GROUND			
Bath Count	Bedroom Coun	t	Room C	Count Fireplace Count		HVAC			
1.0 BATH	2 BEDROOMS		5 ROOI	MS	0	STOVE/SPCE, GAS			
	lm	proveme	nt 2 Deta	ils (DET GARA	(GE)				
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.			
GARAGE	0	83	2	832	-	DETACHED			
Segment	Story	Width	Length	Area	Founda	ation			
BAS	1	26	32	832	POST ON (	GROUND			
		Improve	ement 3 D	etails (SAUNA	.)				
Improvement Type	Year Built	Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup>		Basement Finish	Style Code & Desc.				
STORAGE BUILDING	0	12	.0	120	-	-			
Segment	Story	Width	Length	Area	Founda	ation			
BAS	1	10	12	120	POST ON (	GROUND			
		Improv	ement 4 [	Details (BARN)					
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.			
BARN	0	1,2	48	2,184	-	<del>-</del>			
Segment	Story	Width	Length	Area	Founda	ation			
BAS	1.7	26	48	1,248	POST ON (	GROUND			
	Im	proveme	ent 5 Deta	ils (24X32GRE	EN)				
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup> Basement Finish		Style Code & Desc.			
GARAGE	0	76	8	768	-	DETACHED			
Segment	Story	Width	Length	Area	Founda	ation			
BAS	0	24	32	768	FLOATING SLAB				
Improvement 6 Details (38X52 PB)									
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.			
POLE BUILDING	0	1,9	76	1,976	-	-			
Segment	Story	Width Length		Area	Founda	lation			
BAS	1	38	52	1,976	POST ON (	GROUND			





St. Louis County, Minnesota

Date of Report: 8/6/2025 10:53:22 PM

Improvement 7 Details (8X6 ST)										
	V 5 "	-		•		0.1.0.1.0.5				
Improvement Type	Year Built	Main Floor Ft <sup>2</sup>		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
STORAGE BUILDING	0	48		48	=	-				
Segment	Story	Width Length			Foundati					
BAS	0	6 8 48		48	POST ON GR	ROUND				
	Improvement 8 Details (OLD HSE)									
Improvement Type	Year Built	Main Flo	Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup>		Basement Finish	Style Code & Desc.				
STORAGE BUILDING	0	41	6	476	-	-				
Segment	Story	Width	Length	n Area	Foundati	Foundation				
BAS	1	11	16	176	POST ON GR	ROUND				
BAS	1.2	15	16	240	POST ON GR	ROUND				
CNX	0	4	8	32	POST ON GR	ROUND				
		Improver	nent 9 De	etails (17X42 ST	)					
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
STORAGE BUILDING	0	71-	4	714	-	-				
Segment	Story	Width	Length	n Area	Foundati	on				
BAS	0	17	42	714	POST ON GR	ROUND				
		Improvem	nent 10 D	etails (16X20 ST	<b>-1</b>					
Improvement Type	Year Built	-	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
STORAGE BUILDING	near Built			320	Dasement rinish	Style Code & Desc.				
		32			- Foundati	-				
Segment	Story 0	Width	_							
BAS	0	16	20	320	POST ON GR	ROUND				
		=		etails (10X10 ST	Γ)					
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
STORAGE BUILDING	0	10	0	100	=	-				
Segment	Story	Width	Length	n Area	Foundati	on				
BAS	0	10	10	100	POST ON GROUND					
	ı	mproveme	nt 12 Det	ails (TOPPER SI	HD)					
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
STORAGE BUILDING	0	48	3	48	-	-				
Segment	Story	Width	Length	n Area	Foundati	on				
BAS	0	6	8	48	POST ON GR	ROUND				
		Improven	nent 13 D	etails (12X12 ST	Γ)					
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
STORAGE BUILDING	0	14		144	-	-				
Segment	Story	Width	Length		Foundati	on				
BAS	0	12	12	144	POST ON GR					
Improvement 14 Details (METAL BOX)  Improvement Type Year Built Main Floor Ft 2 Gross Area Ft 2 Basement Finish Style Code & Desc.										
STORAGE BUILDING	0	23		231	-	-				
Segment	Story	Width			Foundati	on				
BAS	0	11	•		POST ON GROUND					
DAG	<u> </u>	1.1	<u> </u>	201	1 001 014 014					





St. Louis County, Minnesota

Date of Report: 8/6/2025 10:53:22 PM

		Sales Reported	to the St. Louis	County Auditor						
Sa	le Date		Purchase Price				CRV Number			
04	4/2006	\$69,500 (T	his is part of a multi p	arcel sale.)		172541				
02	2/2000	\$69,500 (T	his is part of a multi p	arcel sale.)		133260				
12	2/1994	\$48,650 (T	his is part of a multi p	arcel sale.)		104137				
		A	ssessment Histo	ory						
Class Code Year (Legend)		Land EMV	Bldg Total EMV EMV		Def Def Land Bldg EMV EMV		dg	Net Tax		
	103	\$173,100	\$34,400	\$207,500	\$0	\$	0	-		
2024 Payable 2025	123	\$32,100	\$0	\$32,100	\$0	\$	0	-		
	Total	\$205,200	\$34,400	\$239,600	\$0	\$	0	1,237.00		
2023 Payable 2024	103	\$145,600	\$32,900	\$178,500	\$0	\$	0	-		
	123	\$26,800	\$0	\$26,800	\$0	\$	0	-		
·	Total	\$172,400	\$32,900	\$205,300	\$0		0	1,063.00		
	101	\$139,000	\$31,300	\$170,300	\$0	\$	0	-		
2022 Payable 2023	121	\$25,500	\$0	\$25,500	\$0	\$	0	-		
	Tota	\$164,500	\$31,300	\$195,800	\$0	\$	0	1,015.00		
	101	\$126,900	\$28,400	\$155,300	\$0	50 \$0		-		
2021 Payable 2022	121	\$23,100	\$0 \$23,100		\$0 5		0	-		
	Total	\$150,000	\$28,400	\$178,400	\$0	\$	0	925.00		
		1	Γax Detail Histor	у						
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Buil MV	lding	Total	Taxable MV		
2024	\$207.00	\$25.00	\$232.00	\$166,440	\$24,420	)	\$	190,860		
2023	\$225.00	\$25.00	\$250.00	\$158,660	\$23,220 \$		3181,880			
2022	\$269.00	\$25.00	\$294.00	\$144,400	\$21,080		\$	3165,480		

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.